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2021 4 3 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.009 - 0.063 0.025 &
LA i 1.512 0.020 - 0.434 0.092 =
/L4, (HCI) 4.545 0.016 - 0.215 0.152 =
mIbE (HF) 0.306 0.004 - 0.057 0.026 =
— &b (SO2) 15.147 0.003 - 6.922 2.265 =
—4&bi% (CO) 7.578 0.000 - 0.300 0.063 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.468 - 7.198 1.270 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.019 - 0.034 0.025 &
LA 0.756 0.050 - 0.134 0.092 =
Z/LE (HCI) 0.756 0.088 - 0.191 0.150 s
wAbE (HF) 0.072 0.019 - 0.035 0.026 s
— &b (SO2) 3.789 2.120 - 2.414 2.264 =
—&Ei% (CO) 3.789 0.023 - 0.145 0.062 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.802 - 1.851 1.270 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0010 =
R A 0.0378 <0.0046 &
IR R g ) 7.575 x 107 <4.987 x 1010 =
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2021 4 3 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.029 0.005 &
LA i 1.512 0.018 - 0.289 0.073 =
/L4, (HCI) 4,545 0.111 - 0.305 0.190 =
mIbE (HF) 0.306 0.007 - 0.059 0.034 =
— &b (SO2) 15.147 0.007 - 7.540 2.281 =
—4&bi% (CO) 7.578 0.037-0.319 0.161 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.941-5.778 1.662 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.008 0.005 &
LA 0.756 0.055 - 0.094 0.074 =
#F/bE (HCI) 0.756 0.146 - 0.242 0.191 s
wAbE (HF) 0.072 0.025 - 0.044 0.033 =
—&AbiR (SO2) 3.789 2.188 - 2.350 2.283 =
—&Ei% (CO) 3.789 0.092 - 0.234 0.164 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.216 - 2.513 1.654 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0010 =
R A 0.0378 <0.0046 &
IR R g ) 7.575 x 107 <5.194 x 1010 =
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2021 4 3 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.040 0.004 &
LA i 1.512 0.018 - 0.477 0.078 =
/L4, (HCI) 4.545 0.029 - 0.216 0.152 =
mIbE (HF) 0.306 0.006 - 0.060 0.031 s
— &b (SO2) 15.147 0.000 - 3.423 1.811 =
—4&bi% (CO) 7.578 0.019 - 0.197 0.100 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.651 - 6.043 1.271 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.006 0.004 &
HEA T 0.756 0.043-0.118 0.078 =
/L4, (HCD 0.756 0.047 - 0.180 0.151 =
wAbE (HF) 0.072 0.018 - 0.038 0.031 s
— &b (SO2) 3.789 1.477 - 1.959 1.813 =
—&Ei% (CO) 3.789 0.074 - 0.146 0.101 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.899 - 1.606 1.267 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.788 x 1010 &
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2021 4 3 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.017 0.006 &
LA i 1.512 0.008 - 0.406 0.069 =
Z/LE (HCD 4,545 0.030 - 0.150 0.102 TE
mIbE (HF) 0.306 0.011 - 0.058 0.034 =
— &b (SO2) 15.147 0.014 - 3.647 1.506 =
—4& kbR (CO) 7.578 0.010 - 0.098 0.048 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.756 - 6.645 1.541 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.008 0.006 &
HEA T 0.756 0.033-0.115 0.069 =
/L4, (HCD 0.756 0.082 - 0.115 0.101 =
wAbE (HF) 0.072 0.025 - 0.038 0.034 s
— &b (SO2) 3.789 1.156 - 1.808 1.509 =
—&Ei% (CO) 3.789 0.027 - 0.075 0.048 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.069 - 2.377 1.537 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0010 =
R A 0.0378 <0.0047 &
IR R g ) 7.575x 10°° <5.377 x 1010 =
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